5.

Deliverable Length: 2 – 3 paragraphs 

Details: From the following augmented matrix, first write the system of equations that represents the augmented matrix and then create a real-world word problem that would represent these equations and their unknowns. Be creative. Do not use word problems that are in the assignments or course material.


6.

The following is offered as a solution of the equation [image: image1.png]-4[x-2( 2x*3\:|+1:%‘47.76\
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~4[x-2(2x-3)]+1=8x-12
~4x-dx+6+1=82-12
-8x+7=8x-12

7=-12




Because 7 = –12 is not a true equation, the equation has no solution. If this is correct, state that there is no solution. If not, explain in detail why it is not correct, and supply the correct answer.

Finally, create an equation that includes at least one set of parentheses and one fraction that has a solution of –10. 

